
  هاي خودسنجي  پاسخنامه آزمون
   » مدار منطقي« 

  
  )1(ن آزمو

   »3«ـ گزينه 5   »4«ـ گزينه 4 »3«ـ گزينه 3   »1«ـ گزينه 2   »2«ـ گزينه 1

   »4«ـ گزينه 10   »2«ـ گزينه 9   »1«ـ گزينه 8   »4«ـ گزينه 7   »2«ـ گزينه 6

  )2 (آزمون
   »3«ـ گزينه 5    »4«ـ گزينه 4   »2«ه ـ گزين3   »3«ـ گزينه 2   »1«ـ گزينه 1

  »1«ـ گزينه 10   »2«ـ گزينه 9   »4«ـ گزينه 8   »4«ـ گزينه 7   »2«ـ گزينه 6

  )3 (آزمون
   »2«ـ گزينه 5   »1«ـ گزينه 4   »4«ـ گزينه 3   »3«ـ گزينه 2 »2«ـ گزينه 1

    »1«ـ گزينه 10 »4«ـ گزينه 9   »3«ـ گزينه 8  »2«ـ گزينه 7   »1«ـ گزينه 6

 


